
Ikzkn”kZ iz”ui= &I 

fo’k; & HkkSfrd “kkL= ¼201½ 
Subject – Physics 
d{kk & ckjgoh 
Class – 12th  

 
Lke; & 3 ?k.Vs          iw.kkZad & 70 
Time – 3 hours            M.M. - 70 
funsZ”k % ¼1½ lHkh iz”u vfuok;Z gSA dqy 26 iz”u gy djus gSA  
Instructions : (1) All Questions are compulsory. Total 26 questions are  to be attemped 

¼2½ iz”ui= ikap [k.Mkssa esa gSA [k.M ¼v½ ] [k.M ¼c½ ] [k.M ¼l½] [k.M ¼n½ ] [k.M ¼b½ 
(2) Question paper contains five 5section , Section A,B, C, D & E  
¼3½ vko”;drkuqlkj js[kkfp= ;k ukekafdr fp= dh jpuk dhft, & 
(3) Draw neat ray diagram or labeled diagram as required 
 

[k.M ¼v½ Section A 
 

funsZ”k % bl [k.M esa dqy ikap iz”u gS izR;sd iz”u ij ,d &,d vad vkcafVr gS \ 
Instruction : This Section contain 5 questions ,each caring 1 mark. 

Ikz”u %  ¼1½ fo|qr /kkfjrk dk S.I. ek=d ,oa foeh; lw= fyf[k,A  

Q. (1) Write down the S.I. unit & dimensional formula of electric capacity. 
Ikz”u %  ¼2½ izR;korhZ fo-ok- cy dk eku E=314 sin 314t  gS rks mldh vko`fÙk dk eku crkb;sA 
Q. (2) The e.m.f. value of an a.c. is E=314 sin 314t   write down the value of its frequency.  

Ikz”u %  ¼3½ nsgyh rjax yEckbZ fdls dgrs gSA   
Q. (3) What is threshold wave length ? 

Ikz”u %  ¼4½ ,d ysal dh Qksdl nwjh 10 ls-eh- gSA mlds lEeq[k 5 ls-eh- dh nwjh ij oLrq j[kus 
ij cuus okys izfrfcEc dh iz—fr  ,oa vkdkj fyf[k, &   

Q. (4) The focal length of a lense is 10 cm . An object is placed in front of the lence at a distance 
5 cm. Write down the nature and size of the image formed.   

Ikz”u %  ¼5½ flfydkWu ds v/kZpkyd esa vklsZfud dh Mksfiax dh xbZ rks cuus okys v/kZpkyd dk 
uke fyf[k, \ 

Q. (5) If silicon semiconductor is doped with Arsenic , then name the type of the semiconductor 
formed     

 
 
 
 
 
 



[k.M ¼c½ Section B 

 
funsZ”k % bl [k.M esa dqy ikap iz”u gS izR;sd iz”u ij nks & nks vad vkcafVr gS \ 
Instruction : This Section contain 5 questions ,each caring 2 marks. 

Ikz”u %  ¼6½ fo|`r f)/kqzo dh v{kh; fLFkfr ,oa fuj{kh; fLFkfr esa dksbZ nks varj fyf[k,A  
Q. (6) Write down two difference between endon and broad side position of an electric dipole    

Ikz”u %  ¼7½ ,d pkyd dk izfrjks/k (470±10%) gS rks ml pkyd ds izfrjks/k ij cus o.kZ dksM 
ds jax fyf[k, \ 

Q. (7) The resistance of a conductor in (470±10%) write the colors of the color code in it.        

Ikz”u %  ¼8½ vk;ke ekMqys”ku D;k gS \ 
Q. (8) What is amplitude modulation ?    
Ikz”u %  ¼9½ la;ksth rkj rkacs ds cuk;s tkrs gSa D;ksa \  
Q. (9) Connecting wire are made of  copper why ? 

Ikz”u %  ¼10½ ,d ek/;e ftldk vioZrukad √3  gSA ml ij v/kzqfor izdk”k fdrus vkirudks.k 
ij vkifrr dh tk;s ftlls fd og /kqzfor gks tk;sA 

Q. (10) The refractive index of a medium is √3. At what angle a unpolar light should 
incident on it so that the light will become polarise 

     
[k.M ¼l½ Section C 

 
funsZ”k % bl [k.M esa dqy ckjg iz”u gS izR;sd iz”u ij rhu&rhu vad vkcafVr gS \ 

Instruction : This Section contain 12 questions ,each caring 3 marks. 
Ikz”u %  ¼11½ lsy dh vkarfjd izfrjks/k dh ifjHkk’kk fy[kdj mldk fo-ok- cy ls laca/k LFkkfir 

dhft,A    
Q. (11) Write the definition of internal resistance of cell and hence establish its relation 

with emf of the cell.   
Ikz”u %  ¼12½ izfr pqEcdh; ,oa vuq pqEcdh; inkFkZ esa dksbZ rhu varj fyf[k,A  
Q. (12) Write down any three difference between paramagnetic and diamagnetic 

substance.    
Ikz”u %  ¼13½ 220 V dh izR;korhZ /kkjk vkSj fn’V /kkjk esa dkSu vf/kd [krjukd gS vkSj D;ksa \  

Q. (13) Which one of 220 V ac & 220V d.c. is more dangerous and why ?  

Ikz”u %  ¼14½ uhps fn;s x;s rjaxksa dh rjax yEckbZ fuEukuqlkj gS \ mu rjaxksa ds uke ,oa ,d 
mi;ksx fyf[k, &  

 (i) 1A0  (ii) 7500A0  (iii) 4000A0 
Q. (14) Wavelength of three waves are given below write the names and one application 

of each wave ? 
 (i) 1A0  (ii) 7500A0  (iii) 4000A0 



Ikz”u %  ¼15½ fudV n`f’V nks’k dk dksbZ O;fDr nwj n`f’V ds fy, -1D {kerk dk p”ek mi;ksx dj 
jgk gS vf/kd vk;q gksus ij mls vyx ls +2D  {kerk dh vko”;drk gksrh gS Li’V 
dhft,A   

Q. (15) A preson having myopia uses lence of -1D power for at old age he needs a lence 
of +2D power separately explain the reason. 

Ikz”u %  ¼16½ ,d fizTe ds inkFkZ dk viorZukad √2 gS vkSj viorZukad dks.k 600 gS rks mlds 

fy, vkiru dks.k (i) rFkk U;wure fopyu dks.k (m) Kkr dhft,A   

Q. (16) Refractive index of the material of a  prism is  √2  if angle of refraction for a light 
ray is 600 then calculate the angle of incidence and angle of minimum 

deviation(m) 
Ikz”u %  ¼17½ ,d izdk”k fo|qr lsy ds fy, nsgyh vkof̀Ùk 5.00 x 1014 Hz gS ;fn ml ij      

6 x 1014 Hz  dk izdk”k vkifrr gks rks &  
 ¼1½ bysDVªkau dk mRltZu gksxh dh ugha  
 ¼2½ vkifrr izdk”k dh rhozrk c<+k;sxs rks D;k gksxkA 
 ¼3½ vkifrr izdk”k dh vko`fÙk 7 x 1014 Hz  djsxs rks D;k gksxkA  

Q. (17) Threshold frequency of a photo electric cell is 5.00 x 1014 HZ. If a light ray of  6 
x 1014 Hz frequency is incised on it them  

 (1) whether electron will emit or not.  
 (2) what will happened? If intensity of incident light is increase  
 (3) what will happened If frequency of incident ray is increase to 7 x 1014 Hz ?  
Ikz”u %  ¼18½ ,d jsfM;ks ,fDVo ukfHkd dk v/kZvk;qdky 60 fnu gS rks 180 fnu ckn mldh 

fdruh ek=k “ks’k jgsxhA    
Q. (18) Half life period of a radio active nuclei is 60 days after 180 days what amount of 

this radio active nuclei will remain. 
Ikz”u %  ¼19½ ykbeu ] ckej vkSj ik”pu Js.kh fdl izdkj ds izdk”k ds varxZr vkrs gS vkSj 

mlesa bysDVªkau dks fdl d{kk ls fdl d{kk esa tkuk pkfg,A  
Q. (19) Lymen , Blamer and paschan sereis belong which part of the light and from 

which orbital to which orbite electron should go in these series.  
 

Ikz”u %  ¼20½ uhps fn;s x;s fp= esa la;ksftr xsV dh igpkudj mldk uke la;ksftr ifjiFk dk 
cqfy;u O;atd ,oa mldh lR;eku lkj.kh cukb;sA  

 

  A         Y 
     
Q. (20) Identify the gate given below and write down its name, boolean expression 

and truth table of the gate.   
  
 

  A         Y 



 
Ikz”u %  ¼21½ VªkWftLVj ds dksbZ nks mi;ksx fyf[k, ,oa VªkaftLVj dk Lohp dh rjg mi;ksx dk 

ukekafdr fo|qr ifjiFk cukb;sA 
Ik z”u %  ¼21½ ,d U;k; fl Dds ds  rhu mNkyksa ij ikzIr fprksa dh la[;k dk ek/; Kkr dhft, & 

Q. (21) Write any two application of transistor and draw labelled circuit 
diagram of its use as a switch. 

Ikz”u %  ¼22½ 10KHz vkof̀Ùk rFkk 10V f”k[kj oksYVrk ds lans”k flxuy ¼eslst flxuy½ dk 
mi;ksx fdlh 1 MHz vkof̀Ùk rFkk 20V f”k[kj oksYVrk dh okgd rjax ds lkFk fd;k 
x;k gS rks ekMqyu lwpdkad rFkk mRiUUk ik”oZ cS.M Kkr dhft, &   

Q. (22) A message signal of 10 KHz. Fraquency and 10V peak voltage is modulated with 
a carrier wave of 1 MHz frequency and 20V peak voltage calculate modulation 
Index and side band.    

[k.M ¼n½ Section D 
 

funsZ”k % bl [k.M esa dsoy ,d iz”u gS ftlesa vkarfjd fodYi ekStwn gS \ bl iz”u ij 4 vad 
vkcafVr gS \ 

Instruction : This Section contain only 1 question with  internal option. This question 
caring 4 marks. 

Ikz”u %  ¼23½ f”k{kd ,d cYc rFkk ,d ljy dq.Myh izsjd ] ,d dqath lfgr fp=kuqlkj ,d ac  
L=ksr ls tksM+s vkSj fLop dks can dj fn;k x;k vkSj dqN le; Ik”pkr~ ,d fo|kFkhZ dks 
yksgs ds NM+ izsjd dq.Myh ds vanj izfo’V djkus dks dgrs gSaA 

 
 
 
  mijksDr fLFkfr ds vk/kkj ij fuEu iz”uksa ds mÙkj nhft, & 

¼1½  NM+ dks izfo’V djkrs le; cYc dh ped fdl izdkj ifjofrZr gksxh dkj.k lfgr 
Li’V dhft,A 

¼2½ f”k{kd fo|kFkhZ esa fdu fdu ewY;ksa dks fodflr djus dk iz;kl dj jgs gSaA 
Q. (23)  As shown in the figure a teacher makes an a.c. circuit with a simple 

conductor coil with a key a switch and a bulb. Keeping the switch closed than 
student was asked to insert an iron rod in the coil.  

 
 
 
 
 
 Answer the following question on the basis of the above situation 

(1) How the intensity of the bulb changes when the rod is inserted. Also explain 
the reason. 

(2) Which values of the students are binary tried by the teacher to enhance.    
     vFkok  



f”k{kd dqN Nk=ks dks ysdj gokbZ vM~Ms x;sA gokbZ vM~Ms ij lqj{kk dkj.kksa ls 
izR;sd O;fDr dks /kkrq lalwpd ds }kjk iFk ls xqtkjk tkrk gSA dqN Nk=ksa ds ikl 
/kkrq ls cuh oLrq Hkh Fkh ftlds dkj.k /kkrq lalwpd ls /ofu fudyus yxhA  bl 
fLFkfr esa fuEu iz”uksa ds mÙkj nhft,A  

¼1½   /kkrq lalwpd ds dk;Z djus dk fl)kar fyf[k,A 
¼2½ f”k{kd fo|kFkhZ esa fdu fdu ewY;ksa dks fodflr djus dk iz;kl dj jgs gSaA  

A teacher had a trip to airport along with his student for security reason every 
person while entering the airpot has to part through a metal detector. Some 
students had some metallic substance with them which made sound when 
passing through the metal detector. 
Answer  the following question on the basis of the above situation 

(1) Write down the working principle of the metal detector. 
(2) Which value of the students are binary tried by the teacher to enhance.  

 
[k.M ¼b½ Section E 

 
funsZ”k % bl [k.M esa dqy rhu iz”u gS izR;sd iz”u esa vkarfjd fodYi fn;s x;s gSA izR;sd iz”u 

ij 5 & 5 vad vkcafVr gS \ 
Instruction : This Section contain three question each question have internal option and 

each question caring 5 marks. 
Ikz”u %  ¼24½ ,d leku vkosf”kr vuar lery pknj ds dkj.k fo|qr {ks= dh rhozrk Kkr 

dhft,\ ;fn lery pknj esa rhozrk ry ls ckgj dh vksj gS rks i`’B ?kuRo dk eku 
/kukRed gksxk fd _.kkRedA 

Q. (24) Calculate the electric field intensity at a point due to uniformaly charged infinite 
plane sheet. If the firection of  the intensity is outward from the sheet. State 
surface density will be positive or negative 

      vFkok@ or 
 fdlh fo|qr f}/kqzo ds dkj.k v{kh; fLFkfr esa fo|qr foHko dh x.kuk dhft;s ;fn f}/kqzo 

dks 900 ls ?kqek fn;k tk;s rks fo|qr foHko dk eku fdruk gksxk \ 
 Calculate electric potential in axial position due to an electric dipole. If the dipole 

is rotated by 900 what will be the new value of electric potential. 
Ikz”u % ¼25½ ;fn dksbZ bysDVªkau ukfHkd ds pkjksa vksj pqEcdh; f}/kqzo ds :Ik esa ifjHkze.k dj jgk 

gS rks mlds dkj.k ml pqEcdh; f}/kqzo dk vk?kw.kZ Kkr dhft, \ 
Q(25) If one electron is revolves around a nucleus as a magnetic dipole. Calculate 

the dipole moment of this magnetic dipole  
     vFkok  
 fdlh /kkjkokgh o`Ùkkdkj dq.Myh ds v{k ij fLFkr fdlh fcUnq ij pqEcdh; {ks= dh 

rhozrk dh x.kuk dj nwjh ds lkFk mldh rhozrk ifjorZu dk xzkQ iznf”kZr dhft,A 



Calculate the magnetic field intensity at a point on the axis of a 
current carrying circular coil also plot the graph between distance 
and field intensity.   

Ikz”u % ¼26½ nks mÙky ysalks dh Qksdl nwfj;k¡ Øe”k% 5 ls-eh vkSj 15 ls-eh- gSA [kxksyh; nwjn”khZ 
cukus gsrq fdls vfHkn`”;d ,oa fdls usf=dk ds :Ik esa pqusaxsA mUgsa pqudj [kxksyh; 
nwjn”khZ ds lEeq[k j[kh oLrq dk Li’V nf̀’V dh U;wure nwjh ij izfrfcEc fuekZ.k dk 
fdj.k vkjs[k [khapdj mlds vko/kZu {kerk dk O;atd fyf[k,A 

Q. (26) Two convex lenses L1 and L2 focal length  5 cm and 15cm respectively out of 
these two lense which lense will you choose as objective lense & which lense as 
eye piece lense to make an astromical telescope. Draw clear ray diagram of this 
astronomical telescope when the final image is formed at least distance of distinct 
vision write down the expression for its magnefying power.  

     vFkok  
 pkj Lora= rjaxks ds lehdj.k Y1 = a1 , sin wt , Y2 = a2, sin2wt Y3 = a3 sin3 wt ] Y4 = 

a4 sin4wt rFkk  buesa ls fdu rjaxks ds  e/; O;fDrdj.k laHko gS dkj.k lfgr fyf[k,A 
jpukRed O;frdj.k dh “krZ fy[kdj dykarj ds lkFk rhozrk ifjorZu dk xzkQ [khafp,A 

  The equations of four independent waves are as following Y1 = a1 , sin wt , 
Y2 = a2 sin2wt Y3 = a3, Y4 = a4 sin4wt these waves between which waves 
interference is possible and why ? 

  Write down two conditions for constructive interference and plot graph 
between phase difference and Intensity. 

 
   &&&&&&&000&&&&&&& 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Ikzkn”kZ iz”ui=  & II 

fo’k; & HkkSfrd “kkL= ¼201½ 
Subject – Physics 
d{kk & ckjgoh 
Class – 12th  

 
Lke; & 3 ?k.Vs          iw.kkZad & 70 
Time – 3 hours            M.M. - 70 
funsZ”k % ¼1½ lHkh iz”u vfuok;Z gSA dqy 26 iz”u gy djus gSA  
Instructions : (1) All Questions are compulsory. Total 26 questions are  to be attemped 

¼2½ iz”ui= ikap [k.Mkssa esa gSA [k.M ¼v½ ] [k.M ¼c½ ] [k.M ¼l½] [k.M ¼n½ ] [k.M ¼b½ 
(2) Question paper contains five 5 section , Section A,B, C, D & E  
¼3½ vko”;drkuqlkj ukekafdr js[kkfp=  dh jpuk dhft, & 
(3) Draw neat ray diagram or labeled diagram as required 
 

[k.M ¼v½ Section A 
 

funsZ”k % bl [k.M esa dqy ikap iz”u gS izR;sd iz”u ij ,d &,d vad vkcafVr gSA 
Instruction : This Section contain 5 questions ,each caring 1 marks. 

Ikz”u %  ¼1½ foHko izo.krk D;k gS \  

Q. (1) What is potential gradient ? 
Ikz”u %  ¼2½ izR;korhZ /kkjk  I = I0 sinwt  gS rks mldk oxZ ek/; ewy D;k gksxk \ 

Q. (2) If an a.c. current I = I0 sinwt what will be it’s  r.m.s. value ? 
Ikz”u %  ¼3½ nsgyh ÅtkZ fdls dgrs gSa \   

Q. (3) What is threshold energy ? 
Ikz”u %  ¼4½ dk¡p d fy, Økafrd dks.k dk eku 420 gS ;fn ml ij dksbZ izdk”k 450 ij vkifRr 

gksrh gS rks  ml izdk”k esa dkSu lh ?kVuk gksxh ml ?kVuk dk uke fyf[k, \    

Q. (4) The value of critical angle for the glass is 420 If light ray is incident on 
angle of 450 on it, which incident will take place ?     

Ikz”u %  ¼5½ “kqèn teksZfu;e ds fØLVy esa ,Y;qfefu;e dk vinzO; feykus ij cuus okys nks 
v/kZpkydksa dk uke fyf[k;sA 

Q. (5) Aluminum is dopped in to pure germanium crystal, write the name of 
two semiconductors does obtained.      

 
 
 
 

 



[k.M ¼c½ Section B 

 
funsZ”k % bl [k.M esa dqy ikap iz”u gS izR;sd iz”u ij nks & nks vad vkcafVr gS \ 

Instruction : This Section contain 5 questions ,each caring 2 marks. 

Ikz”u %  ¼6½ ,d xksykdkj pkyd ftldh f=T;k10 ls-eh- gS mls 10C vkos”k fn;k x;k rks dsUnz 

ls 9 lseh nwjh ij rhozrk Kkr dhft;sA 

Q. (6) The radius of a sphericalconductor is 10 cm If it is charged by  10C charge find 

out it intensity at a point 9 cm from its center.   

Ikz”u %  ¼7½ izfrjks/k vkSj fof”k’V izfrjks/k esa dksbZ nks varj fyf[k;s \ 

Q. (7) Write down any two differences between resistance and specific resistance        

Ikz”u %  ¼8½ fuEu fp= esa tqM+s izfrjks/kks dk B vkSj C ds e/; ifj.kkeh izfrjks/k Kkr dhft,A  

 

 

 

 

Q. (8) Calculate the resultant resistance between point B and C from the 

following circuit    

   

 

 

 

Ikz”u %  ¼9½ ekMqyu dh vko”;drk D;ksa gksrh gS \  mlds nks dkj.k fyf[k,A  

Q. (9) Why modulation is needed ? Write its two reason.  

Ikz”u %  ¼10½ izdk”k dk foorZu D;k gS \ foorZu dh “krZ fyf[k,A  

Q. (10) What is diffraction of light ? Write down its conditions. 

 

  

    

 



 
[k.M ¼l½ Section C 

 
funsZ”k % bl [k.M esa dqy 12 iz”u gS izR;sd iz”u ij rhu&rhu vad vkcafVr gS \ 
Instruction : This Section contain 12 questions ,each caring 3 marks. 
Ikz”u %  ¼11½ fdjpkWQ ds f}rh; fu;e dks fy[kdj mlds xf.krh; :Ik dks ifjiFk cukdj 

le>kb;s \    

Q. (11) Write down the second law of Kirchoffes it with the help of proper 
circuit diagram. 

Ikz”u %  ¼12½ ,d L yEckbZ vkSj M pqcadh; vk?kq.kZ okys pqcadh; rkj dks v/kZo`Ùkkdkj :Ik esa 
eksM+k x;kA bl ifjofrZr vk—fr dk pqEcdh; vk?kw.kZ Kkr dhft,A  

Q. (12) A magnetic wire of length L and magnetic moment is bend to for 
semicircle find the magnetic moment the reshaped shape of the 
magnetic wire    

Ikz”u %  ¼13½ Loizsj.k ,oa vU;ksU; izsj.k esa dksbZ rhu varj fyf[k, \  

Q. (13) Write any three difference between self inductions and mutal 

inductions.  

Ikz”u %  ¼14½ ;fn iF̀oh ij ok;qe.My ugha gksrk rks iF̀oh ds /kjkry ij vkSlr rkieku orZeku 
rkieku ls vf/kd gksxk ;k de viuh iqf’V dks rdZ lfgr fyf[k,A 

Q. (14) If there were no atmosphere on earth then will the average temperature 
of the earth surface be more or less then at present temperature of 
earth,  answer with proper reason.    

Ikz”u %  ¼15½ ;ax ds f)fLyj iz;ksx esa fÝat pkSM+kbZ dk eku ok;q esa 3mm gSA ;fn iz;ksx dks 
ikuh esa fd;k tk;s ] ftldk viorZukad 4@3 gS rks  fÝat pkSM+kbZ dk eku D;k gksxk \  

Q. (15) Frindge width of youngdoble slit experiment in air is 3mm. If this 
experiment is per formed into water of respective index 4/3 then what 
will be new value of frindge width 

Ikz”u %  ¼16½ vkidks fofo/k dks.kksa ds ØkWmu dk¡p vkSj fiyaV dk¡p ds fizTe fn;s x;s gS fizTeksa dk 
dksbZ ,slk la;kstu lq>k, tks  

 ¼1½ “osr izdk”k ds ladh.kZ iqat dks fcuk vf/kd fo{ksi.k ds fopyu dj nsA  
 ¼2½ “osr izdk”k ds ladh.kZ iqat dks fcuk vf/kd fopyu ds fo{ksi.k dj nsA  

Q. (16) you are given prism of crown and flint glass of different angle suggest 
the types of combination of these prisms which -  

 (1)  Will deviate white light ray without dispersion 
 (2) Will disperse white light ray without deviation 



Ikz”u %  ¼17½ ,d /kkrq ds fy, nsgkyh rjax yEckbZ 30000A gS ml ij 20000A dk izdk”k 
vkifrr fd;k x;k &  

 ¼1½ bysDVªkau dk mRltZu gksxk dh ugha \ 
 ¼2½ 20000A ds vkifrr izdk”k dh rhozrk nqxquh djus ij D;k gksxk \  

Q. (17) The threshold wave lenth of a metallic surface is 30000A if a light of  20000A in 
incident on it - 

 (1) Whether the electron emission will occure or not ?  
 (2) If the intensity of this incident ray of wave  length 20000A is doubled.     

Ikz”u %  ¼18½ gkbMªkstu ijek.kq dh fuEure voLFkk esa ÅtkZ 13.6eV gSA bls twy esa cnfy, 
rFkk bl voLFkk esa bysDVªku dh fLFkfrt ÅtkZ ,oa xfrt ÅtkZ Kkr dhft, \ 

Q. (18) Energy of  hydrogen form it ground is 13.6 eV. Change it into joule 
and in that state calculate the potential and kinetic energy of electron.  

Ikz”u %  ¼19½ ukfHkdh; fo[k.Mu vkSj ukfHkdh; lay;u esa dksbZ rhu varj fyf[k, \ 

Q. (19) Write any three difference between neuclear fission and nuclear fusion   
Ikz”u %  ¼20½ mHk;fu’B mRltZu fo/kk esa NPN VªkaftLVj dk /kkjk ykHk Kkr dhft,A tcfd 

mHk;fu’B vk/kkj fo/kk esa /kkjk ykHk 0-95 gS \      

Q. (20) Find the current gain of an NPN transistor in common emitter mode if 
the current gain of the pone transistor in commen base mode is 0.95      

Ikz”u %  ¼21½ uhps fn;s x;s fp= esa Gate dh igpkudj la;ksftr ifjiFk dh lR;eku lkj.kh 
rFkk cwyh;u in fyf[k;s \ 

 
  

  A         Y 
 
Ik z”u %  ¼21½ ,d U;k; fl Dds ds  rhu mNkyksa ij ikzIr fprksa dh la[;k dk ek/; Kkr dhft, & 

Q. (21) Identify the gate give below and also write the truth table & Boolean 
expression for it.  

 

  A         Y 
  
Ikz”u %  ¼22½ ,d okgd rjax dk lehdj.k C(t) = AC sinwCt rFkk ekMqyd flxuy dk 

lehdj.k m(t) = Am sinwmt gS rks ekMqfyr rjax esa dkSu dkSu ls rhu vkof̀Ùk;ksa dh 
rjaxs ekStwn gksrh gSA    

Q. (22) The equation of a carrier wave is C(t) = AC sinwCt and of a modulating signal in   
m(t) = Am sinwmt then write that which three frequencies will be present in the 
modulated wave.    

 
 



[k.M ¼n½ Section D 

 
funsZ”k % bl [k.M esa dsoy ,d iz”u gS ftlesa vkarfjd fodYi ekStwn gS \ bl iz”u ij 4 vad 

vkcafVr gS \ 
Instruction : This Section contain only 1 question with  internal option. This question 

caring 4 marks. 
Ikz”u %  ¼23½ deyk ,d fLFkj lk;dy ds iSMy dks ?kqekrh gS ml ik;My dk laca/k 100 Qsjksa 

okyh rFkk 0-10 eh2 {ks=Qy okyh ,d dq.Myh ls dj ysrh gS rFkk bl dq.Myh dks 0-01 
Vslyk okys ,d leku pqEcdh; {ks= esa  

¼1½  dq.Myh ds ?kw.kZu v{k ds yEcor gSA 
¼2½ dq.Myh ds ?kw.kZu v{k ds lekUrj j[kh gSA 
 bu nksuksa fLFkfr eas fdl fLFkfr esa mls /kkjk izkIr gksxh] ;fn og dq.Myh dks vk/kk 

pDdj izfr lsd.M ?kqekrh gSA  
¼3½ blesa deyk esa dkSu ls ewY;ksa dk fodkl gks jgk gS \        

Q. (23)  Kamla is padelity a static cycle and the padel is connected with a coil of 100 
turns and 0.10m2 cross reaction area. If this coil is kept in a magnetic filled 
0.01 tesla which is  

(1) Perpendicular to the rotational axis of coil.   
(2)  Parrallel to the rotational axis out of them two porition  in which position 

current will part through the coil if it is rotated half cycle per second 
(3) Which value is developing in Kamla.  
     vFkok@OR 

MCcw ds [ksr esa ,d mPp {kerk dk VkWoj [kM+k fd;k x;k gSA og mls gVkus ds fy, 
dbZ mPp vf/kdkfj;ksa ls vkxzg dj pqdk gS D;ksafd D;ksafd ;g VkWoj mlds [ksr ds 
cM+s fgLls dks ?ksj fy;k gSA rc mldh cM+h cgu us fo|qr vkiwfrZ gsrq mlds egRo 
dks crk;kA rks og mls u gVkus ds fy, lger gks x;kA mijksDr fLFkfr dks i<+dj 
fuEu iz”uksa dk mÙkj nhft, & 
¼1½ ;g VkWoj mPp “kfDr ds LFkkukarj.k esa D;ksa egRoiw.kZ gSA  
¼2½ MCcw ,oa mldh cgu }kjk n”kkZ;s x;s ewY;ksa dks fyf[k,A   
A high power tower is erected in Dabbu’s field. Several times he requested 
the higher official to remove the tower which occupied a large area of this 
field , Then his elder sister told him about the perplexes of the tower in 
electric supply then he agreed do not remove the tower from his field  
Answer the following question from the above situation    

 (1) Why this tower important for high power transmission ? 
(2) What values are shown by Dabbu’s and his sister.  

 
 
 



[k.M ¼b½ Section E 
funsZ”k % bl [k.M esa dqy 3 iz”u gS izR;sd iz”u esa vkarfjd fodYi fn;s x;s gSA izR;sd iz”u ij 

5 & 5 vad vkcafVr gS \ 

Instruction : This Section contain three question each question have internal option and 

each question caring 5 marks. 

Ikz”u %  ¼24½ ,d xksykdkj la/kkfj= dh IysVksa dh f=T;k;sa Øe”k% a vkSj b gSA ;fn a> b rks mu 

IysVks ls xksykdj la/kkfj= cukdj mldh /kkfjrk dk O;atd fudkfy;sA ;fn nksuksa IysVksa 

ds chp K iSjkoS|qrkad dk iSjkoS|qrkad ek/;e Hkjk gSA  

Q. (24) The radius of plates of spherical capacitor are a and b respectively if a > b so find 

the expression of capacity of this spherical capacitor with a medium of dielectric 

constant is K lie between the plate.       

      vFkok@OR 
 xkWml izes; dks fy[kdj mldh lgk;rk ls dwykWe ds O;qRØe oxZ fu;e dh LFkkiuk 

dhft,A  

 Write down Gauses theorem and establich coulombs inverse square law by using 

this theorem    

Ikz”u % ¼25½ nks irys ysal ftldh Qksdl nwfj;k¡ Øe”k% f1 vkSj f2 gS muls cus la;qDr ysal dh 

Qksdl nwjh Kkr dhft, rFkk mu ifjfLFkfr;ksa dks fudkfy;s ftlls la;qDr ysal 

mÙky ysal dh rjg dk;Z djsA 

Q(25) Focal length of  two thin lenses are f1 and f2 find out the focal length of the 

combined lense formed by them and also write its conditions for which this 

combined lense will behave as a convex lense  

     vFkok@OR 
la;qDr lw{en”khZ ds vfHkn`”;d ,oa usf=dk dh Qksdl nwfj;k¡ Øe”k% f0 vkSj fe gSA oLrq dk 

vafre izfrfcEc Li’V n`f’V dh U;wure nwjh ij cukus dk fdj.k vkjs[k [khapdj mldh 

vko/kZu {kerk dk O;atd Kkr dhft,A  

focal length of objective and eye piece of a compound microscope 

are fo and fe respectively draw ray diagram for this microscope 

when the final image is formed at least distance of clear vision 

calculate the expression for magnifying power.  



Ikz”u % ¼26½ ,d /kkjkokgh pkyd ftlesa I ¼,Eih;j½ dh /kkjk cg jgh gS mlls d nwjh ij fLFkfr 

fdlh fcUnq p ij pqEcdh; {ks= dh rhozrk dk ifjek.k o fn”kk ftu fu;eksa ls Kkr 

djrs gSaA mls fyf[k;s o mUgsa Kkr Hkh dhft;s A   

Q. (26) I Ampere current is flowing through a conductor. Write down name of the law 

using which magnetic field of intensity and direction of magnetic field developed 

at any point P at a distance d from two conductor and  find the intensity too. 

     vFkok@OR 
,d n.M pqEcd ftldk /kqzo izkcY; m izHkkoh yEckbZ l gSA ftls ,d leku pqEcdh; {ks=  

B esa ykus ij yxus okys cy ;qXe dk vk?kw.kZ ,oa mls ?kqekus esa fd;s x;s dk;Z dh x.kuk 

dhft,A  

  A bar magnet of effective length l  and pole strength m is brought in to a 

uniform magnetic field of intensity B calculate the torque and work done in 

rotating this magnet. 
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